FTEERGAEASEE IO Y I XKE ToRAEE

1 H#j B 202247R168 (X) ~178 (B)
2 = 15 WHRSEFARKENAET=Xa—F

T 611-0031 R#AFFATLEE/\FES 1B
3 BmEAER

REBF U— T8
AY—% KIRAT =RR B 22 S
86 82
PNY 2 89® 1|2 8 0| 2-o 1
81 (ret) T Y
68 85
=RE 1 8@ 2 3 8 0] 1-1 2
18 (ret) 83
28 58
fmgug [0 18 2|0 28 3 0-2 3
Ty 38
BY—% SR RER B w2 Em
98 (4) 82
RER AT 2 48 112 68 1] 2-o0 1
82 81
89 (4) 82
RER |1 84 2 3 81 0| 1-1 2
28 84
28 28
BER 1 g6 2(0 18 3 0-2 3
18 48
REXTF U—JH#
AY—4 AT =RR B 22 RS
80 28
RER AT 2 48 112 81 1| 2—o0 1
82 83
08 79
=RE 1 84 2 1 8 2| o0-2 3
28 48
82 97
Mg |1 18 212 28 1 1-1 2
38 84
BY—% B RER KB F w2 Em
48 48
HEE 0 38 210 68 2| o-2 3
Ty Ty
84 79
EER 2 8 0 1 8® 2| 1-1 2
T91Y 86
84 97
PN 2 86 02 9%®G 1 2-0 1
T91Y 68







BEE B FIERLR E 8

Tt 7 IIE {5z
1 AY—H 1 KIRAF
KR FF 16 ( KBRAF )
20 (%)
BY—4 14 E=EAF 26 ( HEFF )
3L AY—4S 24 H=RE
=R 3 ( =RE )
20 (%)
By—42f EEE Afi ( EEE )
54 AY—4 3f HMILE
] 5f ( BEE )
86
21 ( 58 )
BY—5 3 #EE 86 66 (FIILE)
FE 52 sz
14 2 {i 31 4 {31 5 {1 6 fiL
KRR =ER =aE EEE HEE RIS
ARESHIBRHFE
FE R ARESHIBRHFE
RERTF 4 K IR R =ERR =aE EEE




R R FIRRLR E 8

i 5E B 432
T AY—F 11 BT
RERAT 1462 ( REBFF )
20 (59
BU—%J 14 KIRFF 24 ( KBRAEF )
36 AU—S 2461 FMILE
EER 3 ( EER )
20 (82
BU—%V 2 EER 4461 (FFLE)
56 AUY—J 3% ZHTRE
=RE 562 ( ERER )
20 (23
T 5€ B iz
14 241 3 fi 4 5 {i 6 fif
REBAT KB AT EER IR Z=RE HER
AKREHIZHFE
i | AKREHIZHFE
HELZF4 REBAT KB AT EER IR




